TOMO I

PESIN 2020 - 2034

ANEXO 9

CURVAS QV
FSCENARIO DEMANDA ALTA

(Largo Plazo)



11-2026-Max-Sec_6001

Minimo Margen de

750.000 Reactivo:42.11MVAr
625.000
/ ——CASO BASE
500.000
——L1 Plant(MVAR)
’ ——12B  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant(MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T T , ——L9 Plant(MVAR)
0.700 0.750 1.050 1.100 1150 . (10 plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6003
Minimo Margen de
750.000 Reactivo:42.62MVAr
625.000 —
/ —— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B Plant (MVAR)
375.000
\ //%’/ —~—L3 Plant (MVAR)
250,000 \ ——L4B  Plant (MVAR)
\\ /// ——L6 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
\\\ ———18 Plant (MVAR)
Q[MVAr]  0.000 " N : . , ~—~—L9 Plant (MVAR)
0.700 0.750 1.050 1.100 1150 . 10 Pplant(MVAR)
-125.000 ——ST1  Plant (MVAR)
—-—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-Max-Sec_6005

Minimo Margen de

750.000 /Keactlvo:4/.4MVAr
625.000
——CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant(MVAR)
250,000 ——148  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——1L8 Plant (MVAR)
Q[MVAr]  0.000 - . r r . . ——L9 Plant(MVAR)
0.700 0.750 0.800 0.850 .000 1.050 1.100 1150 {10 Plant(MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~———P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6840
Minimo Margen de
750.000 eactivo41.26MVAr
625.000
/ Z
——CASO BASE
500.000 N —
——L1 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
250000 \ ——14B  Plant (MVAR)
§\§\ —— L6 Plant (MVAR)
Q
125.000 ——L7 Plant (MVAR)
\ ——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T ) ——L9 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1150 10 plant(MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
——P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6001
Minimo Margen de

750.000 /eactlvo:bl./SMVAr
625.000
// —— CASO BASE
500.000 Z
2 ——L1 Plant (MVAR)
——1L2B  Plant (MVAR)
375.000
——13  Plant (MVAR)
——14B  Plant (MVAR)

250.000
——16 Plant (MVAR)

——L7 Plant (MVAR)

125.000
——1L8 Plant (MVAR)

Q[MVAr]  0.000 . . . . ——19  Plant (MVAR)

0.700 0.750 1.050 1.100 1150 {10 Plant(MVAR)
-125.000 ——ST1 Plant(MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~—~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]

11-2026-MaxSol-Sec_6003
Minimo Margen de

750.000 Reactivo:52.54MVAr

625.000 //
/ —— CASO BASE
500.000 A
4 ——L1 Plant(MVAR)
\ /// / 128 Plant (MVAR)
375.000
——13  Plant (MVAR)
250.000 E\\\ \ /W —— 4B Plant (MVAR)

——16 Plant (MVAR)
125.000 \ ——L7 Plant (MVAR)

——18 Plant (MVAR)

Q[MVAr]  0.000 . . ——19 Plant (MVAR)

0.700 0.750 0.800 1.050 1.100 1150 . |10 Plant (MVAR)
-125.000 ——ST1 Plant(MVAR)
——ST2 Plant(MVAR)
-250.000 ——P1 Plant (MVAR)
~<—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6005

Minimo Margen de

750.000 Reactivo:57.98MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
——13 Plant (MVAR)
250,000 ——14B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——1L8 Plant (MVAR)
Q[MVAr]  0.000 . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 1.000 1.050 1.100 1150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
———ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000
———P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-MaxSol-Sec_6840
Minimo Margen de
750.000 ~—Reactivo:51.13MVAr
625.000
\ / —— CASO BASE
500.000
g ——11 Plant (MVAR)
3 —— 128 Plant (MVAR)
375.000
\ / ——13  Plant (MVAR)
250,000 AN —— 148 Plant (MVAR)
N\\ ——16 Plant (MVAR)
125.000 . ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000
———P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6001

Minimo Margen de

750.000 Reactivo:-345.83MVAr
625.000
——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 800 0.850 0.900 0.950 W 1.050 1.100 1150 1730 plant (MVAR
-125.000 ‘ ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6003
Minimo Margen de
750.000 Reactivo:-347.05MVAr
625.000
/ ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MvAr]  0.000 v v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1%( 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 £ ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6005

Minimo Margen de

750.000 Reactivo:-406.37MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant(MVAR)
0.000 . . iy . —— 110 Plant (MVAR)
0.7 0.850 0.900 0.950 W 1.100 1150 1530 plant (MVAR
-125.000 ‘ ——ST1  Plant (MVAR)
7 / ———ST2 Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~~——P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
———P7 Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6840
Minimo Margen de
750.000 Reactivo-358.14MVAr
625.000
/
—— CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19  Plant (MVAR)
0.000 . . ; . . ——110 Plant (MVAR)
0.7 0.850 0.900 0.950 W 1.100 1.150 1230 Plant (MVAR
-125.000 / ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
———P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6001
Minimo Margen de

750.000 Reactivo:-245.91MVAr

625.000

——CASO BASE

500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——L4B Plant (MVAR)
250.000 ——L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)

——1L9 Plant (MVAR)

Q[MVAr]  0.000 v v v v v 5 v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %& 1.050 1.100 1.150 1230 Plant (MVAR

-125.000 ——ST1 Plant (MVAR)
——ST2 Plant(MVAR)
-250.000 ~—~—P1 Plant (MVAR)
= P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
—~—P7 Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MaxSol-Lluv_6003
Minimo Margen de
750.000 Reactivo=253.38MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)

——L9 Plant (MVAR)

Q[MvAr]  0.000 v v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1. /K 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)

——ST2 Plant(MVAR)

-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V[pu]




12-2026-MaxSol-Lluv_6005
Minimo Margen de

750.000 Reactivo:-285.34MVAr

625.000

——CASO BASE

500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——L4B Plant (MVAR)
250.000 ——L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)

-

9 Plant (MVAR)

Q[MVAr]  0.000 . . . . . -/ . ——110 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.050

1.100 1.150 1230 Plant (MVAR

-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
—~—P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000
Vpu]
12-2026-MaxSol-Lluv_6840
Minimo Margen de
750.000 Reactivoi-254.27MVAr
625.000
—— CASO BASE
500.000

——L1 Plant(MVAR)
——L2B Plant (MVAR)

375.000
——148  Plant (MVAR)
250.000 / // ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 / / ——18 Plant (MVAR)
/// ——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . ; . . . ——110 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 1230 Plant (MVAR

-125.000 ——ST1 Plant(MVAR)

——ST2 Plant(MVAR)

-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-Max-Sec_6001

Minimo Margen de

750.000 Reactivo-213.75MVAr
625.000
//// ——CASO BASE
500.000
——L1 Plant (MVAR)
——12B  Plant (MVAR)
375.000
W ——14B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
’ ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——1L9 Plant (MVAR)
Q [MVAr] 0.000 T T T T T ) ——L10 Plant(MVAR)
0.700 0.900 0.950 000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\ / ——ST2  Plant (MVAR)
-250.000 N / ~——P1 Plant (MVAR)
\\\ // P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-Max-Sec_6003
Minimo Margen de
750.000 /// Reactivo:629.73MVAr
625.000
/// —— CASO BASE
500.000
/ ——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
/ / ——14B  Plant (MVAR)
250000 ——16 Plant (MVAR)
// ——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 T : T T ) ——110 Plant(MVAR)
0.700 0.900 1/./300 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 f ——ST1  Plant (MVAR)
\ // ——ST2  Plant (MVAR)
-250.000 v ~——P1 Plant (MVAR)
\ y P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
—~—P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-Max-Sec_6005

Minimo Margen de

750.000 ////«eacnvo:bus.%MVAr
625.000 -
/// ——CASO BASE
500.000
/ ——L1 Plant(MVAR)
——L28  Plant (MVAR)
375.000
//// ——14B  Plant (MVAR)
250,000 ——L6 Plant(MVAR)
// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——1L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T ) ~—=—L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %o 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 / ~—~—P1 Plant (MVAR)
& // P2 Plant (MVAR)
-375.000 \/ P3  Plant (MVAR)
AN PS5  Plant (MVAR)
-500.000 =
——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
Vpu]
15-2029-MaxSol-Sec_6001
Minimo Margen de
750.000 // Reactivo=411.05SMVAr
625.000
// ——CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—L4B Plant (MVAR)
250.000 ——16 Plant(MVAR)
——L7 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T ) ~—=—L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7  Plant (MVAR)
——P9  Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-MaxSol-Sec_6003

Minimo Margen de

750.000 /// Reactivo:-409.04MVAr
625.000
//// ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
/ —~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1.050 1.100 1.150 1230  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/I —~—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
\ //J P2 Plant (MVAR)
-375.000 w P3  Plant (MVAR)
. P5  Plant (MVAR)
-500.000 N
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-MaxSol-Sec_6005
Minimo Margen de
750.000
625.000 ;
///// ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
// —~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MvAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-Max-Lluv_6001
Minimo Margen de

750.000 Reactivo:-116.32MVAr

625.000

/ —— CASO BASE
500.000
——L1 Plant(MVAR)
——1L2B  Plant (MVAR)
375.000
/// ——L4B  Plant (MVAR)
250.000 ——L6 Plant(MVAR)
/// ——L7 Plant(MVAR)
——18 Plant(MVAR)

—

125.000
——1L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T ) ~—=—L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~—~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6003
Minimo Margen de
750.000 Reactivo=117.35MVAr
625.000

—— CASO BASE

500.000 .
——L1 Plant (MVAR)
——128  Plant (MVAR)

375.000

/// ——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
//// ——L7 Plant (MVAR)
/// ——L8 Plant (MVAR)

125.000
——L19 Plant(MVAR)
Q[MvAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 00 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)

——ST2  Plant (MVAR)

-250.000 ~—~—P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-Max-Lluv_6005

Minimo Margen de

750.000 Reactivo-143.26MVAr
625.000
7 ——CASO BASE
500.000
——L1 Plant (MVAR)
/ ——128  Plant (MVAR)
375.000
// ——148  Plant (MVAR)
250,000 ——16 Plant (MVAR)
// ——1L7 Plant(MVAR)
125.000 /8 ———18 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
~——P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6840
Minimo Margen de
750.000 Reactivo=120.96MVAr
625.000
——CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000
/// ——148  Plant (MVAR)
250,000 ——16 Plant (MVAR)
//// ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
/// ——19 Plant(MVAR)
Q[MvAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %@o 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MaxSol-Lluv_6001
Minimo Margen de

750.000 Reactivo:-65.98MVAr

625.000

500.000 -
/ ——L2B  Plant (MVAR)

375.000
/// ——L14B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
//// ——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
//// ——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v g v v ——L10 Plant(MVAR)

0.700 0.750 0.800 0.850 0.900 0950 000 1.050 1.100 1.150 1500  Plant (MVAR

——CASO BASE

——L1 Plant(MVAR)

-

—

-

-125.000 ——ST1 Plant(MVAR)

——ST2 Plant(MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]

16-2029-MaxSol-Lluv_6003
Minimo Margen de

750.000 Reactivo-68.14MVAr

/ ——CASO BASE
500.000
——L1 Plant (MVAR)
/ ——12B  Plant (MVAR)
375.000
/// ——148  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
//// 7 Plant(WvAR
125.000 ——L8 Plant (MVAR)
//V ——19 Plant(MVAR)
Q[MvAr]  0.000 v v v v v y v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %o 1.050 1.100 1.150 LS00 Plant (MVAR

——ST1 Plant(MVAR)

625.000

-125.000
——ST2 Plant(MVAR)

-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V[pu]




16-2029-MaxSol-Lluv_6005

Minimo Margen de

750.000 Reactivo=77.1MVAr
625.000
——CASO BASE
500.000
/ ——L1 Plant (MVAR)
/ ——12B Plant (MVAR)
375.000 y
2 ——L4B  Plant (MVAR)
4
250,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MaxSol-Lluv_6840
Minimo Margen de
750.000 Reactivo=69.02MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
/ ——12B  Plant (MVAR)
375.000
M ——14B  Plant (MVAR)
250000 ——16 Plant (MVAR)
//// ——17 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MvAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /%éo 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ] ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1  Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
—~—P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-Max-Sec_6001

Minimo Margen de

750.000 //// Reactivo:-283.61IMVAr
625.000
V/ ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
' —~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
[ ——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
I ——1L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T ) ~—=—L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6003
Minimo Margen de
750.000 /// Reactivo=291.68MVAr
625.000
l / ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
/ —~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
i ——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T r T T ) ——110 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1/foo 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
// ——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
// P2 Plant (MVAR)
-375.000 ~—, P3  Plant (MVAR)
7 PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-Max-Sec_6005

Minimo Margen de

750.000 / Reactivo=327.79MVAr
625.000
// ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
/ ——1L9 Plant (MVAR)
Q[MVAr]  0.000 " : : : . / . . . ~—~—L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6840
Minimo Margen de
750.000 W Reactivo:-297.46MVAr
625.000
——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MvAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
\\ / P2 Plant (MVAR)
-375.000 v P3  Plant (MVAR)
/ P5  Plant (MVAR)
-500.000 -
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-MaxSol-Sec_6001

Minimo Margen de

750.000 p/ Reactivo:-215.18MVAr
625.000
ﬂ ——CASO BASE
500.000
——L1 Plant(MVAR)
——1L2B  Plant (MVAR)
375.000
I —~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
l ——L7 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T ) ~—=—L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-MaxSol-Sec_6003
Minimo Margen de
750.000 // Reactivo=217.3MVAr
625.000
/ / ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
/ / ——L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
I/ ——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T ) ——110 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1/foo 1.050 1.100 1.150 L500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-MaxSol-Sec_6005
Minimo Margen de

750.000 ///// Reactivo:-259.77MVAr
625.000
///// —— CASO BASE
500.000
——L1 Plant (MVAR)
——1L2B Plant (MVAR)
375.000
——L4B  Plant (MVAR)
——L6 Plant (MVAR)

250.000
// ——L7 Plant(MVAR)
——18 Plant (MVAR)

125.000

-

-

9 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0950 1.050 1.100 1.150 1500  Plant (MVAR

Q[MVAr]  0.000 . . . . . / . . . ——110 Plant (MVAR)
1000

-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-MaxSol-Sec_6840
Minimo Margen de
750.000 Reactivo=225.93MVAr
625.000
——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MvAr]  0.000 v v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V[pu]




20-2035-Max-Lluv_6001

Minimo Margen de

750.000 Reactivo=79.41MVAr
625.000
——CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000
——148  Plant (MVAR)
250,000 ——16 Plant (MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 . . . . . ——Ll10 Plant(MVAR)
0.700 0.850 0:900 0.950 000 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\\\/ ——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
\ ) P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-Max-Lluv_6003
Minimo Margen de
750.000 // Reactivo=80.51MVAr
625.000
/ / ——CASO BASE
500.000
——L1 Plant (MVAR)
——128  Plant (MVAR)
375.000
y ——148  Plant (MVAR)
250,000 ——16 Plant (MVAR)
[ ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
1 ——19  Plant (MVAR)
Q[MVAr]  0.000 . . . . . ——110 Plant (MVAR)
0.700 0.850 0.900 0.950 4000 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 > > it ~—~—P1 Plant (MVAR)
N S //
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-Max-Lluv_6005

Minimo Margen de

750.000 ///// Reactivo-93.61MVAr
625.000
/// // ——CASO BASE
500.000
——L1 Plant(MVAR)
——1L2B  Plant (MVAR)
375.000
//// ——L4B  Plant (MVAR)
250,000 ——L6 Plant(MVAR)
/// ——L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 0 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-Max-Lluv_6840
Minimo Margen de
750.000 y Reactivo-82.77MVAr
625.000
——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
250,000 ——L6 Plant(MVAR)
——L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——L19 Plant(MVAR)
Q[MvAr]  0.000 v v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 Jooo 1.050 1.100 1.150 L500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
N ——ST2  Plant (MVAR)
-250.000 - ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6001

Minimo Margen de

750.000 //// Reactivo:-259.1IMVAr
625.000
/ ——CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 ——L6 Plant(MVAR)
——L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000
——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MaxSol-Lluv_6003
Minimo Margen de
750.000 /// Reactivo=262.25MVAr
625.000
/// ——CASO BASE
500.000
——L1 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000 f
——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
/ ——L7 Plant(MVAR)
125.000 ’ ——L8 Plant (MVAR)
j ——19 Plant (MVAR)
Q[MvAr]  0.000 v v v v v " v v ) ——L10 Plant(MVAR)
I
0.700 0.750 0.800 0.850 0.900 0.950 %;oo 1.050 1.100 1.150 1500  Plant (MVAR
|
-125.000 t ——ST1  Plant (MVAR)
‘
/‘ ——ST2  Plant (MVAR)
|
~250.000 I ~—~—P1 Plant (MVAR)
~_ /j/ P2 Plant (MVAR)
-375.000 , P3  Plant (MVAR)
\ PS5 Plant (MVAR)
-500.000
——P7  Plant (MVAR)
——P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6005

Minimo Margen de

750.000 / Reactivo-307.77MVAr
625.000
// ——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
//// —~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
——1L9 Plant (MVAR)
Q[MVAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MaxSol-Lluv_6840
Minimo Margen de
750.000 r/ Reactivo=269.64MVAr
625.000
——CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MvAr]  0.000 v v v v v v v ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
J P2 Plant (MVAR)
-375.000 ~ P3  Plant (MVAR)
\; PS  Plant (MVAR)
-500.000 3
——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




